Oncor Electric Delivery Transmission Engineering 115 W. 7th St., Ste 1125 Ft. Worth, TX 76102 Fax: 817-215-6959



ACKNOWLEDGMENT OF PAYMENT AND RELEASE IN FULL

WHEREAS, Oncor Electric Delivery Company LLC ("Oncor") and Brown County, Texas (the "County"), acting by and through the Brown County Commissioners Court, entered into that certain letter agreement dated June 14, 2013 (the "Letter Agreement") under which Oncor agreed to be responsible for the repair and rebuilding of certain portions of County Road 221 and County Road 222 (the "Roads") due to damage caused by Oncor's construction of a static var compensator along the Roads (the "Brown SVC Project").

WHEREAS, all major construction was completed on the Brown SVC Project in early 2014;

WHEREAS, pursuant to the terms of the Letter Agreement and the County's memorandum dated June 30, 2014, a copy of which is attached hereto as **Exhibit A** and incorporated herein by reference, (i) Oncor and the County have identified all damaged areas along the Roads, (ii) Oncor has agreed to a one-time payment of FORTY FOUR THOUSAND ONE HUNDRED TWELVE AND NO/100 DOLLARS (\$44,112.00) to cover the cost of all necessary repairs to the Roads, and (iii) the County has agreed to procure all the material and furnish all labor, water, and equipment necessary to rehabilitate the Roads.

NOW THEREFORE, in consideration of the payment of \$44,112.00 made by Oncor to the County by check delivered contemporaneously herewith, the receipt and sufficiency of which is hereby expressly acknowledged, the County does hereby forever RELEASE and DISCHARGE Oncor, its employees, agents, representatives, and contractors, of and from all obligations under the Letter Agreement, as payment of the aforesaid consideration shall constitute performance in full of all said obligations, and from any and all claims, damages and causes of action of whatsoever kind of nature which have accrued to the County for all damages of any nature whatsoever to the Roads as a direct or indirect result of or in connection with the Brown SVC Project.

Brown County Authorized Representatives:	Oncor Authorized Representatives:
Name: Gary Worley	Name: Elmer Valdespino
Title:County Commissioner	Title: Staff Engineer
Signature:	Signature:
Date:	Date: 08/05/2014

August 22. 2014 (Exhibit #1)



Gary Worley Pct. #1 Joel Kelton Pct. #2 Wayne Shaw Pct. #3 Larry Traweek Pct. #4

Brown County Precinct #1 . Gary Worley

Brown County Courthouse 200 S. Broadway, RM. 322 Brownwood, Texas 76801-3136 Fax (325)643-1356 (325)643-1985

Date:

June 30, 2014

RE:

Rehabilitation of CR 221 and CR 222

CR 221

2200' from FM 586 to intersection of CR 222	
1222 tons of State Grade Base @ \$8.00 per ton, \$9,776.	00
220 gallons of Prime solution @ \$1.20 per gal \$ 264.	00
2444 gallons of Emulsion to Chip Seal @ \$2.30 per gal \$5,622.	00
150 Tons of Grade 4 Cover Rock @ \$27.00 per ton \$4,050.	00

Total

\$19,712.00

CR 222

1.3 miles from CR 221 past second entrance of Bluff-Creek Brown Project 3050 Tons of State Grade Base @ \$8.00 per ton \$24,400.00

Total

\$44,112.00

Brown County will furnish all materials, water, equipment and labor for this project Oncor will pay the specified amount of \$44,112.00

Gary Worley Commissioner, Pct. 1

CR 221 Base----2200' X 20'= 44000 sq ft X

Gary Worley Pct. #1 Joel Kelton Pct. #2



Wayne Shaw Pct. #3 Larry Traweek Pct. #4

BROWN COUNTY COMMISSIONERS COURT

BROWN COUNTY COURTHOUSE 200 S. BROADWAY, RM. 322 BROWNWOOD, TEXAS 76801-3136 FAX (325) 643-1356 (325) 643-1985

June 14, 2013

Elmer Valdespino Associate Engineer, Transmission Engineering Oncor Electric Delivery 115 W. 7th St. Ste. 1125 Fort Worth TX 76102

Re: Brown SVC Road Maintenance Agreement

As agreed, Oncor Electric Delivery will be responsible for the repair of CR 221 from FM 586 to CR 222 above any normal maintenance, and for rebuilding the same portion of CR 221 when the Brown SVC project is complete.

The same applies for CR 222 from the intersection of CR 221 around passed the second entrance to the Brown SVC Project.

For reference, CR 221 is a paved road and CR 222 is a gravel road.

We have submitted two bills to Oncor Electric Delivery to date and these bills are attached. A map is also attached for your reference.

Please sign below and return.

Gary Worley, Commissioner Pct.

6-17-13

Date

Oncor Representative

Date

